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EXTENSION  UNITS 1 & 2

Unit 1: Plural nouns; a/an, the
1 Complete the sentences with a/an, the or – 

and the correct form of the noun in brackets.
1 The elephant (elephant) in my local zoo is very 

big.
2 I live in   (house).
3 I’ve got ten   (T-shirt).
4 There are five   (person) in my family.
5 I have three   (sandwich) for lunch on 

Saturdays.
6 I want   (Xbox).
7 My favourite sport is   (football).
8   (school bus) is always full.

Unit 1: This/that, these/those
2 Complete the message with this, that, these 

and those.

(1) This  is a picture of my bedroom 
and (2)   are my clothes. 
(3)   bag at the back is very old, 
but it’s my favourite bag. (4)   
jeans next to the bag are new. I love them too. 
(5)   three T-shirts at the back 
are old. Here at the front of the picture are some 
more of my favourite clothes. (6)   
T-shirt at the front is my favourite T-shirt, and I wear 
(7)   football shirt every time I play 
sports. (8)   sunglasses are new. 
They’re really cool. 

Unit 2: Have got
1 Use the information to help you complete the 

sentences.

Juan Imelda
blue eyes ✗ ✓

big feet ✓ ✗

small hands ✓ ✗

small ears ✗ ✗

big smile ✓ ✓

1 Juan hasn’t got  blue eyes. 
2 Imelda   blue eyes.
3 Juan   big feet.
4 Imelda   big feet.
5 Juan   small hands.
6 Imelda   small hands.
7 Juan and Imelda   small ears.
8 A:    Juan and Imelda 

  big smiles?
9 B:   , they   .

Unit 2: Whose?; possessive ’s/s’ and 
possessive pronouns
2 Complete the conversation with Whose, ’s/s’ or 

a possessive pronoun. 

Grandma Grandad Mum Dad Oscar Marie

A: (1) Whose bag is this?
B: I think it’s Marie’s (2)   grandma’s. 

Yes, it’s (3)   .
A: Are these her glasses?
B: No, they’re not. They’re Marie’s 

(4)   glasses. 
A: Is this tie (5)   too?
B: No, it’s not. It’s Marie’s (6)   tie.
A: (7)   T-shirt is this?
B: It’s (8)   . 
A: Is this dress with a flower (9)   ?
B: Yes, it’s (10)   .


